1

Time: 10 Minutes Total Marks: 10

Paper G. Science 6th

2nd Month, 2nd Week, 1st Day [Syllabus: Unit # 3: Unbalanced diet, nutritional

deficiency disorders (table 3.4)

Q.No.1 Encircle the correct answer from the following choices.

1.

(1x6=6)
LIS S S p e S5
iq-G'i.vuf Jers T

The deficiency of iodine causes:

(a)|Anaemia  L<|(b)|Goiter /"f (¢)|Typhoid 47G+t|(d)[Bleeding 4t
2. The deficiency of which vitamin affects vision? g&/ﬁvluuuf JJ L‘)‘/
(a)|Vitamin A A S ts|(b)|Vitamin B B ks
(c)|Vitamin C C "b|(d)|[Vitamin D Dt
3. The cause of weakness and softness of bones is: :q.,;;JLnr/'Ab;}/[—uzé
(a)|Vitamin A A S ts|(b)|Vitamin B B ks
(c)|Vitamin C C ¢ b|(d)|[Vitamin D Dt
4. The deficiency of the proteins affects: :4‘-_8/(/&0‘0{ d/ f'.-":{
(a)|Growth of body S V:i’d/() (b)|Vision [&/L{J
(©)|IQ level :U}J}.{/ éf (d)|None uﬁ( 6/
5. The deficiency of iron in food causes: c"_(?;;ur Juf'fu.‘.'u(l/f
(a)|Anaemia d/ <l (b)|Goiter d/ /"‘3’/
(c)[Weakness of bones d/ S / d/ ugﬁf (d)|Bleeding of gums d/ ..f,fglf d/ Ui
6. Due to eating unbalanced diet, we may become:

:ujénﬂagJLmﬁU)'?ﬁa

(a)|Healthy +=5"|(b)[Sick /k|(c)|Intellactual ¢ 3|(d)|Slow o
Q.No.2. Write the short answers. 2x2=4) .gf.‘f’J c«l..lﬁ/‘?
(i) Define unbalanced diet. A /.]d/ il
(ii) What is the cause of bleeding of gums? fe “lf(;: d/j,fo}l d/ sy
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Define unbalanced diet.

What is the cause of bleeding of gums?



